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[bookmark: _Toc19746673]S11 Fig. Percent change in hospital admissions per 10-μg/m3 increase in O3 by major disease categories using alternative model specifications, on average across all cities.
Results are presented as point estimates and 95% CIs of the percentage increase in daily hospital admissions associated with a 10-μg/m3 increase in O3. Major disease categories are based on the chapter division of the ICD-10 diagnostic coding system. The 2-day moving average exposure (lag 0-1) was used as the exposure metric of O3. The effects of O3 were estimated after adjustment for PM2.5. The degrees of freedom (df) for the smooth function of calendar day ranged from 6 to 14 per year, as did for weather conditions (temperature and relative humidity) from 3 to 9. The Benjamini-Hochberg procedure was applied to adjust the P values across 14 major disease categories; both unadjusted and adjusted P values are reported.
* Statistically significant estimate (P < 0.05).
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(A) Certain infectious and parasitic diseases

Percent change Unadjusted Adjusted
in admissions, P value for P value for

% (95% CI) association association

-0.02(-0.14, 0.10) 0.753 0.765 —s—

0.11 (-0.00, 0.22) 0.061 0.213 ——
0.13(0.02, 0.24) 0.017* 0.078 —=—
0.14 (0.03, 0.25) 0.011* 0.076 —=—
0.13 (0.02, 0.24) 0.019* 0.132 =
0.15 (0.04, 0.26) 0.007* 0.047* —=—
0.13 (0.02, 0.24) 0.020* 0.132 —s—
0.14 (0.04, 0.25) 0.008* 0.055 =
0.13(0.02, 0.23) 0.017* 0.080 =
0.12(0.01, 0.22) 0.031* 0.177 ——
0.13 (0.02, 0.24) 0.019* 0.136 —s—
0.13(0.02, 0.25) 0.018* 0.125 —=—
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(C) Blood and immune mechanism involved diseases

Percent change Unadjusted Adjusted
in admissions, P value for P value for

% (95% CI) association association

-0.12(-0.27, 0.04) 0.134 0.269 ——
-0.12(-0.27,0.02) 0.100 0.279 ——
-0.14 (-0.28, 0.01) 0.063 0.147 =
-0.12(-0.27,0.02) 0.098 0.228 e
-0.11 (-0.26, 0.04) 0.156 0.307 ——
-0.11 (-0.26, 0.04) 0.138 0.314 ——
-0.10 (-0.25, 0.05) 0.184 0.381 ——
-0.14 (-0.29, 0.02) 0.079 0.222 e
-0.15 (-0.30, 0.00) 0.056 0.172 =
-0.12(-0.26, 0.03) 0.126 0.294 —e—
-0.09 (-0.24, 0.06) 0.223 0.390 ——
-0.10 (-0.25, 0.06) 0.216 0.302 —=—
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(E) Mental and behavioural disorders

Percent change Unadjusted Adjusted
in admissions, P value for P value for

% (95% CI) association association

0.03 (-0.15, 0.22) 0.717 0.765 e
0.04 (-0.13,0.21) 0.659 0.834 —e—
0.03(-0.13,0.19) 0.719 0.838 e
0.01 (-0.16, 0.17) 0.933 0.933 e
0.04 (-0.13, 0.20) 0.671 0.854 e
0.03 (-0.13, 0.19) 0.744 0.868 e
0.04 (-0.13,0.21) 0.650 0.758 ——
0.02 (-0.15,0.19) 0.816 0.952 e
0.06 (-0.12, 0.23) 0.533 0.730 e
0.05 (-0.11, 0.21) 0.569 0.724 e
0.05 (-0.11, 0.21) 0.521 0.663 ——A
0.06 (-0.11, 0.23) 0.489 0.571 e
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(B) Neoplasms

Percent change Unadjusted Adjusted
in admissions, P value for P value for

% (95% CI) association association

0.04 (-0.05, 0.12) 0.407 0.633 —=—
0.06 (-0.02, 0.14) 0.122 0.284 ——
0.09 (0.01,0.17) 0.028* 0.085 =
0.08 (0.00, 0.15) 0.045* 0.127 =
0.08 (0.00, 0.15) 0.048* 0.170 =
0.06 (-0.02, 0.14) 0.125 0.314 —=—
0.05 (-0.02, 0.13) 0.190 0.381 =
0.05(-0.03,0.12) 0.222 0.431 =
0.05 (-0.03, 0.12) 0.219 0.438 =
0.07 (-0.01, 0.15) 0.087 0.252 =
0.08 (-0.00, 0.15) 0.051 0.180 =
0.08 (0.01, 0.16) 0.036* 0.168 =
)

-04 -02 0 0.2 04
% change in admissions (95% CIl)

(D) Endocrine, nutritional and metabolic diseases

Percent change Unadjusted Adjusted
in admissions, P value for P value for

% (95% CI) association association

0.02 (-0.10, 0.13) 0.765 0.765 ——
0.01 (-0.09, 0.11) 0.840 0.904 —=—
0.03 (-0.07, 0.14) 0.527 0.671 =
0.04 (-0.06, 0.15) 0.415 0.581 =
0.06 (-0.04, 0.17) 0.255 0.374 =
0.03 (-0.07, 0.14) 0.548 0.767 ——
0.04 (-0.07, 0.14) 0.515 0.657 ——
0.02 (-0.09, 0.13) 0.700 0.891 —=—
0.03(-0.08,0.13) 0.599 0.730 —=—
0.05 (-0.06, 0.16) 0.364 0.510 —=—
0.07 (-0.03, 0.18) 0.177 0.354 ——
0.09 (-0.02, 0.20) 0.098 0.228 —=—
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(F) Diseases of the nervous system

Percent change Unadjusted Adjusted
in admissions, P value for P value for

% (95% CI) association association

-0.12(-0.22, -0.02) 0.017* 0.117 ——
-0.09 (-0.17, 0.00) 0.058 0.213 —=—
-0.06 (-0.15, 0.04) 0.236 0.387 =
-0.05 (-0.14, 0.04) 0.278 0.432 =
-0.05 (-0.15, 0.04) 0.267 0.374 =
-0.09 (-0.19, 0.01) 0.080 0.280 —=—
-0.08 (-0.18, 0.02) 0.123 0.381 ——
-0.09 (-0.20, 0.01) 0.073 0.222 —=—
-0.10 (-0.20, 0.00) 0.062 0.172 —s—
-0.06 (-0.16, 0.03) 0.174 0.297 ——
-0.05 (-0.15, 0.04) 0.288 0.403 —=—
-0.06 (-0.16, 0.03) 0.188 0.302 =
) )
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(G) Diseases of the eye and adnexa

Percent change Unadjusted Adjusted

in admissions, P value for P value for

% (95% CI) association association

0.12 (-0.03, 0.27) 0.128 0.269 —
0.18 (0.05, 0.31) 0.008* 0.111 ——
0.17 (0.03, 0.30) 0.014* 0.078 ——
0.14 (0.01, 0.28) 0.034* 0.122 e
0.13 (-0.01, 0.27) 0.062 0.173 ——
0.10 (-0.04, 0.24) 0.157 0.314 ——
0.09 (-0.04, 0.22) 0.162 0.381 ——
0.09 (-0.05, 0.23) 0.194 0.431 e
0.10 (-0.03, 0.24) 0.134 0.313 ——
0.11 (-0.02, 0.25) 0.090 0.252 ——
0.11 (-0.03, 0.25) 0.122 0.330 —s—
0.11(-0.02, 0.24) 0.091 0.228 —=—
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(I) Diseases of the circulatory system

Percent change Unadjusted Adjusted

in admissions, P value for P value for

% (95% CI) association association

-0.06 (-0.14, 0.02) 0.132 0.269 =
-0.04 (-0.11, 0.03) 0.279 0.555 =
-0.02 (-0.09, 0.05) 0.508 0.671 (|
-0.00 (-0.07, 0.06) 0.925 0.933 [ |
-0.01 (-0.07, 0.06) 0.831 0.886 |
-0.02 (-0.09, 0.04) 0.482 0.767 =
-0.03 (-0.09, 0.04) 0.412 0.641 =
-0.04 (-0.10, 0.03) 0.246 0.431 (|
-0.03 (-0.10, 0.03) 0.306 0.535 =
-0.01 (-0.08, 0.05) 0.655 0.764 =
-0.01 (-0.07, 0.06) 0.859 0.920 =
-0.00 (-0.07, 0.06) 0.903 0.903 e
1
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(K) Diseases of the digestive system

Percent change Unadjusted Adjusted

in admissions, P value for P value for

% (95% CI) association association

-0.08 (-0.16, 0.00) 0.057 0.198 =
-0.03 (-0.11, 0.04) 0.397 0.555 =
-0.01 (-0.08, 0.06) 0.792 0.853 e
0.01 (-0.06, 0.08) 0.822 0.933 =
0.01 (-0.06, 0.08) 0.886 0.886 =
-0.02 (-0.09, 0.05) 0.649 0.826 =
-0.01 (-0.08, 0.06) 0.855 0.861 =
-0.02 (-0.09, 0.05) 0.637 0.891 e
-0.02 (-0.09, 0.05) 0.625 0.730 =
-0.01 (-0.08, 0.06) 0.853 0.853 =
0.00 (-0.07, 0.07) 0.920 0.920 =
0.01 (-0.06, 0.08) 0.808 0.870 =
1
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(H) Diseases of the ear and mastoid process

Percent change Unadjusted Adjusted

in admissions, P value for P value for

% (95% CI) association association

-0.21(-0.38, -0.05) 0.013* 0.117 [ |
-0.20 (-0.36, -0.04) 0.016* 0.111 e
-0.18 (-0.34, -0.02) 0.030* 0.085 e
-0.18 (-0.34, -0.01) 0.035* 0.122 e
-0.17 (-0.34, -0.01) 0.040* 0.170 e
-0.19 (-0.36, -0.03) 0.023* 0.106 e
-0.19 (-0.35, -0.02) 0.028* 0.132 [ |
-0.19 (-0.36, -0.02) 0.028* 0.130 e
-0.20 (-0.37, -0.04) 0.017* 0.080 e
-0.17 (-0.33, -0.01) 0.038* 0.177 e
-0.17 (-0.33, -0.00) 0.050* 0.180 e
-0.16 (-0.33, 0.00) 0.057 0.198 e
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(J) Diseases of the respiratory system

Percent change Unadjusted Adjusted

in admissions, P value for P value for

% (95% CI) association association

-0.10 (-0.19, -0.01) 0.025* 0.118 —=—

0.00 (-0.07, 0.07) 0.904 0.904 =
0.12(0.05, 0.19) 0.001* 0.016* =
0.16 (0.09, 0.23) <0.001* <0.001* e
0.18 (0.11, 0.25) <0.001* <0.001* =
0.17(0.10, 0.23) <0.001* <0.001* =
0.18 (0.11, 0.25) <0.001* <0.001* =
0.17(0.10, 0.23) <0.001* <0.001* (|
0.15(0.09, 0.22) <0.001* <0.001* =
0.18 (0.12, 0.25) <0.001* <0.001* =
0.19(0.13, 0.26) <0.001* <0.001* (= |
0.20 (0.13, 0.26) <0.001* <0.001* e

1
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(L) Diseases of the skin and subcutaneous tissue

Percent change Unadjusted Adjusted

in admissions, P value for P value for

% (95% CI) association association

-0.09 (-0.26, 0.08) 0.309 0.542 e
-0.03(-0.18, 0.13) 0.715 0.834 —
-0.01(-0.16, 0.15) 0.933 0.933 e
0.02 (-0.14, 0.19) 0.796 0.933 e
0.01 (-0.15, 0.18) 0.858 0.886 =
0.01 (-0.16, 0.17) 0.913 0.913 ——
0.01 (-0.14, 0.17) 0.861 0.861 ——
0.01(-0.16, 0.18) 0.905 0.974 e
-0.00 (-0.17, 0.17) 0.973 0.973 |
0.02 (-0.14, 0.18) 0.836 0.853 e
0.03 (-0.13, 0.20) 0.697 0.814 e
0.07 (-0.10, 0.23) 0.432 0.550 e
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(M) Musculoskeletal and connective tissue diseases

Percent change Unadjusted Adjusted

in admissions,

P value for P value for

(N) Diseases of the genitourinary system

Percent change Unadjusted Adjusted

in admissions,

P value for P value for

Model % (95% CI) association association

Time
df=6  0.04 (-0.08, 0.16) 0.557 0.765 —s—
df=7  0.05(-0.06, 0.16) 0.376 0.555 ——
df=8  0.06 (-0.04,0.17) 0.230 0.387 ]
df=9  0.07 (-0.03,0.18) 0.164 0.328 =
df=10  0.07 (-0.03, 0.17) 0.176 0.307 =
df=11  0.03 (-0.06, 0.13) 0.504 0.767 —=—
df=12  0.05(-0.05, 0.15) 0.329 0.576 ——
df=13  0.02(-0.07,0.12) 0.616 0.891 =
df=14  0.04 (-0.06, 0.13) 0.428 0.665 =

Weather
df=3  0.07 (-0.03,0.17) 0.191 0.297 —=—
df=6  0.07 (-0.02, 0.17) 0.141 0.330 —=—
df=9  0.07 (-0.02,0.17) 0.138 0.275 —=—
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Model % (95% CI) association association

Time
df=6  -0.02 (-0.12, 0.08) 0.683 0.765 ——
df=7  0.04(-0.05,0.13) 0.375 0.555 —=—
df=8  0.05(-0.03,0.13) 0.249 0.387 =
df=9  0.04(-0.03,0.12) 0.237 0.416 =
df=10  0.06 (-0.02, 0.13) 0.149 0.307 (|
df=11  0.01(-0.06, 0.08) 0.818 0.880 =
df=12  0.02 (-0.05, 0.09) 0.516 0.657 (|
df=13  0.00 (-0.07, 0.07) 0.992 0.992 =
df=14 -0.00 (-0.07, 0.06) 0.916 0.973 [

Weather
df=3  0.05(-0.02,0.13) 0.160 0.297 =
df=6  0.04 (-0.03,0.12) 0.272 0.403 =
df=9  0.05(-0.03,0.13) 0.201 0.302 =

)
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